SplashLearn

Identify the Expression

Mark the correct expression to represent the given problem.

1
Q Matt buys 4 packs of candies to distribute to his friends, Each pack has 8 candies.

How many candies does Matt buy?

c4+8 04 X 8

@ Marie buys 5 packs of balloons for a birthday party. Linda gave her 2 more packs of

balloons. How many packs of balloons does Marie have now?

o5+2 obh X2

@ Jason has 6 boxes of game coins. There are 3 game coins in each box.

How many game coins does Jason have?

06 +3 o6 X 3

4
Q Peter has 7 boxes of apples. His mother gave him 4 more boxes of apples.

How many boxes of apples does Peter have now?

o7+4 o7 X4

5
Q Cindy buys 3 packs of ribbons for a project. Each pack has 5 ribbons in it.

How many ribbons does Cindy buy?

c3+5 03 X5




